(SMTE6H/1B]E)

HEFEH BEAO
A B 27,941 73,343
A X 19,328 48,023
J\$hith X 8,613 25,320

RF-BT4 HH EEAO
Al 2,415 5,597
2K 212 659
L 57 189
o [ ET 7 7
E ¥ 911 2,048
Eff1TH 68 131
ERfF2T B 214 428
EM3TH 60 127
EF4TH 200 424
EM5TH 119 283
EArF6T B 85 204
EMRTTH 165 451
il 1,115 2,508
1 TH 129 414
fFd2TH 145 369
FF3TH 195 411
fFaTH 248 486
5T H 398 828
=) 581 1,411
==1TH 183 407
==22TH 174 442
==3TH 85 217
==4TH 139 345
gt 522 1,204
1 TH 278 659
#2t2TH 244 545
=i 1,219 2,990
=W1TH 290 702
=W2TH 455 1,100
=W3TH 474 1,188
BEDF 752 1,898
BEOF1TH 271 655
BEDF2TH 396 934
BDF3TH 43 151
BEDF4TH 42 158

1 R=2




At fF 499 1,297
dRFP1TH 224 584
dtRFF2TH 132 341
FF$H3TH 143 372

A [ ET 89 328

AR ET 57 160

R A [ 1,306 2,892
RARTH 141 300
HAR2TH 232 559
RARITH 346 721
HARAITH 268 629
RARSTH 319 683

B& 1,003 2,298
BE1TH 296 654
1B&2TH 296 750
BE3TH 411 894

) 1,343 2,930
HAEB1TH 272 628
B HE2TH 203 470
BAE3TH 215 476
HAH4ATH 335 674
BAE5TH 318 682

Hih 334 764
Bi#1TH 119 335
Bi2TH 215 429

R 591 1,336
1 TH 210 426
2T B 203 494
*I3TH 178 416

HES 52 168
HEITH 38 132
HE2TH 14 36

EERA 293 732

mE 32 86

TR 190 589

RAFH 139 413

I\ET & 130 286

SRHET 74 151

2DH 76 209

2 R—Y




it 381 938
#I1TH 140 324
#ii2TH 48 108
#i3TH 58 166
#iA4TH 135 340

I N 49 125

Ea 1,581 4,046
EMAa1TH 542 1,412
E&a2TH 268 655
BMAa3TH 535 1,401
Ea4TH 236 578

AAE 83 278

VN 49 139

ESOFN 72 353

ZAR 57 164

R 89 316

s 169 409

Kub 121 477

Al 271 582
AE—TH 99 198
ARE=THE 172 384

=1 16,921 40,977

=k 425 1,078

LR A 78 214

==p= 91 115 303

R 299 794

E PN 517 1,320

INFR 48 146

= B 1,482 3,855

=%t 505 1,983

=% &t 505 1,983

Al 205 630
FH 215 578
BE)Il &t 420 1,208
AR & 19,328 48,023

3 R—y




¥t il 1,459 3,942
£tk 54 158
BE 163 474

iR & 1,676 4,574
NI 480 1,402
HE 116 343
PSS 58 173
EEM 39 111
TS 107 343
A 65 191

N 865 2,563
E= B 29 70
fim ] 87 257
/MU 23 73
INE 175 507
+E 245 710
INE 117 394
5 205 589

B%E E 881 2,600
X e 192 556
KiR 162 485
A H 101 277
hE 93 277
IZNR 146 427

IR £ 694 2,022
IS 271 810
FAR 167 517
BB 64 590
£ H 23 74
EA 41 128
= 65 169

R& § 631 2,288
5 35 91
L1 1,065 2,938
= I 66 185
BEXR 476 1,374
B F 534 1,599

i 2,176 6,187

4R—y




B/INE 111 380
T#k 703 1,981
=REE 30 89
Al 52 168
A 49 124
% 87 266
® & 1,032 3,008

FH 158 575
nx 183 528
A ] 84 264
& H 29 96
5% 41 128
£ 56 158
pus 23 80
EER 37 108
INET S 9 19
{hEFF 27 82
2 H 11 40
I &t 658 2,078
A X &t 8,613 25,320
AT & 27,941 73,343

5 X—




